N & o & AF & H A A
20178 & =04 LBHSIH 20 AIE2el
A S2O0AIE 22 0
dM: BIANE 2
Chel: EStAlE2tel (&)
SA - BB B () - MM - BES Ol &t o San HmEET
F 0l Al 2tel 2,339,029 2,202,980 136,049
= 100,000
Al 2,239,029
AL 2 2,276,895 2,101,317 175,578
= 100,000
Al 2,176,895
F StAl & 2tel 2,276,895 2,101,317 175,578
= 100,000
Al 2,176,895
==z 29 1,185,600 1,138,011 47,589
= 100,000
Al 1,085,600
101 @124l 48,644 44,010 4,634
04 J12ZtHZ22 s+ 48,644 44,010 4,634
Ozlat AR JIZH 22X 5 B+ 37,159
= 52,190 »2H »247L 25,782
— T4 52,1903 »2H 52 5,428
— ZHAY| 2,000 «2H #2472 +23| 1,976
—Ws2Ldl 50,000& x2H 128 1,200
— ZE S| 200,000& »2H 23] 800
—MdEAdazEdsY 82,1743 x2H 128 1,973
OJIE 8% SHO XA o2
52,1903 x6H x 12 123 3,132
OEESoHER &M 2
52,1903 4«3 x43] 2,506
Ox&d= &I 902Y 52,1903 *4H x4 +33| 2,506
OZCIY M=xY 2
52,1903 *4H x4 U +4 3| 3,341
201 Yet2 | 530,070 514,561 15,509
= 84,940
Al 445,130
01 At 2t 2l 188,023 172,090 15,933
O e8| 79,247
—MYIISE(502IH) 2 990 *60& «12& 713
— MY oIS (100216) 7
1,950& x30& +12& 702
—SEAE AR FY(FHEX )
300,000& 122 3,600
—HAZE P (Y, 2Zy0 , 2EHH )
2,500& 5001 «12& 1,500
— =34 F32F MNEH 60,000& x12& 720
—RoFHELZ 365,000 1228 4,380
—2UHAIEE Z2EEIZ 500,000 *23| 1,000
— &%) U =2 49,0003 *2CH+128 1,176
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A S2O0AIE 22 0
M BoANE 29
Chel: EStAlE2tel (&)
SA - BB B () - MM - BES Ol &t o San HmEET
—Hld 2t =8 18,510 +26CH =123 5,776
—gtAgRUEdE =2 (3 2)
600,000& »12& 7,200
— XIGtA (243)3 4
4,000 x650m *23] 5,200
— 32 JIAA d2T] A2
8,000,000 » 14! 8,000
—JtAANE EIIZ2AM =2  300,000& 13l 300
— 3B WIINL FUBY +48
2,600,000& x13] 2,600
—sA 2 SSEsZ) A2 =2
160,000& «2CH 128 3,840
—52J FIEM =2 (32)
120,000 =20 13l 240
- BBy BIANELE
500,000& *1CH*13] 500
—&IIANEE EIIZAM==2 900,000 13 900
-JlgB 828 VBIE
5,000,000& x63| 30,000
-39 A2 2403 x750m" 53] 900
o2d+g 57,670
— o= 2ENERAIE A
70,0003 x 118 %13 770
—UEHLY(SB, HE)

50,0002 x2H 3652 +50,000 & x2H 118 48,300
—YET FY(2HB) 50,0008 1% *1202 6,000
—gsm sy (SEHERY)

50,0003 » 1«52 2,600
O= &l 8,736
— 230=32 SO0 A S20H2H|
7,000 «13H »82| «12& 8,736
OJle3 822 M 16,080
— 8= & 110,000 =60 83l 5,280
— ZAH MZE 500& *1,00001 x83] 4,000
—c= HMA 300& *2,00004 «80H 4,800
— e M 50,000 x50 x83] 2,000
O 2otz S AHAZH 822
X & 2,950
— &9 N 110,000 =40 53] 2,200
—cl =g 300& 50001 x53] 750
OWz=&E “FHA WA 300,000& x10& 3,000
O=23una HEA =24| 900,000 » 14! 900
O23tus =AM NFLHI F4
2,000,000& =14l 2,000
Oozdts EQRssty =22 ¢ WM HME
9,940,000 =14 9,940
= 9,940




AN 20AE 22

g 2oAE 29

Chel: EStAlE2tel (&)
SA - BB B () - MM - BES Ol &t o San HmEET
O=stlzsns T2 XA (XNEE)
25,000,000 *30% 7,500
02 =224l 257,047 257,471 AN424
O3 & HA 179,839
— s 20032 HES 3l
4,000,000& *13] 4,000
— 20 daCANEE 2
120,000& »1H «10& 1,200
—Zsol=32 I3 9,850,000 «12& 118,200
—230=32 & - ol== 23
900,000& »12& 10,800
— 2340=3l2 dte IISE AR
3,000,000& x12& 36,000
—EIZNERES(NSXHF) 60,000 »23| 120
— 2082 DERLLLYS
3,600,000& x13] 3,600
—ZEXNY LAESE XS XAI(78813736)
70,0003 +1CH »23 140
~PEMNY AHSY NSHUYBER
88,9903 1CH »12 89
—2EXNY A2E8se NSAHSEHEER
300,000 *1CH =12 300
—IJtAEHHABAEEZ 100, 000& 12/ 100
—ASHASHI Y (32) 991,830& x 13| 992
— AYOorME S (3 &) 50,000& x13] 50
—&dJjetE el Eeldl(3l2&) 120,000 13 120
— dBtAES Y CIHUWAEZ 250,000&+12& 3,000
—RER3 1,128
oteH 2703 x20024 x12& 648
sllsH 4,0003 1024 +128 480
Ozl 5,208
—HI&SEI HZH(ER)
1,200& *4004 = 1CH 480
—AHSENAZH (ZR)
1,200& %2704 *1CH*123 3,888
—SEZHAE M=) ASH (FLR)
1,400& x90L*43| 504
~£2YRAS AZH(HLR)
1,400 *120L*23] 336
OA&ZEHl S X bl 72,000
— 22 % JIAZEH |XH
6,000,000& x12& 72,000
03 A2 Z Hl 85,000 85,000 0
OJIEH™EA &5 HMZH 5,000,000& »23| 10,000
O&sls ER2sstn 29 50,000,000 * 14 50,000
= 50,000
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AN 20AE 22

=
& Oll

dM: BIANE 2
o
235t

Chel: EStAlE2tel (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ORstzns =2 XA
25,000,000& =14 25,000
= 25,000
202 O4dl 11,806 7,220 4,586
= 5,060
Al 6,746
01 = LH 4 Hi 11,806 7,220 4,586
O2sA&ds L EL2ES 220
210,800& *4H «43| 3,373
Ost=2¢ FJI153 & 0lAs] A 220l
210,800& x4H «43| 3,373
O30 EREssil &8 220l
210,800& *4H «63] 5,060
= 5,060
206 M= Hl 39,680 36,320 3,360
01 M= 4l 39,680 36,320 3,360
O==2clE gl is
22,0003 20 #23| 880
O==2es8 =z 25,0003 x50 2 1,250
Od2AE ASH(dAgetz) 7
60,000& 504 3,000
OFAY 8HH M SH(RZ)HAE 7
20,000 x502| & 1,000
OEAE HAIES Y 3,000,000& »14 3,000
Osl& Al B2+2 ALY 3,000,000 14 3,000
oA StM2XI L (HE) 10,0002 *80H 800
o237 7¢ 30,0002 104 300
Oa24Y A 2 50,000& *20= 1,000
O=2szsga 3¢ B8 I2E Hol=
8,000 *300H 2,400
O=2sttzaa 3 U210 250 24
2 5,000& *20Lx12& 1,200
ORsttl=s & MIES(HXMHEINR 6F)
150,000& «12& 1,800
O2stossld HEA MIIEHI| 2
3,000,000& =14 3,000
O3 2UH3H 85 +< 17,050
—RUHxE #Z3Y 50, 000& *3124 15,600
— 3% 240t012 8 HEX(F2HA)
5,000& 2004 1,000
—SHE 24010128 AAE X (FtA1.5V)
1,500& *3004 450
301 et a = 410,400 400,400 10,000
= 10,000
Al 400,400
09 &AL HI B &S 336,400 326,400 10,000
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SN 20
L 2sAE 29
=
23t

el

X ZH
S =

Ol Al & 2t e It

A& 2te

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OJlesd =g 300,000,000 =14 300,000
O=zsto & =& 2,200,000& 1204 & 26,400
O&BLE EQ2ststn =& 10,000,000 * 14 10,000
= 10,000
MIIEE4dS3 74,000 74,000 0
O=stud ZA==& 100, 000& *7JH BH+203] 14,000
O&F2 AAES Z2AE XS
60,000,000& =14 60,000
401 Al HI K 201 I 120,000 110,500 9,500
01 A& tl 120,000 110,500 9,500
O=Zstdl=3& AIE&2 JHE=+Hl 105,000,000 105,000
O3d& 2UJIAHEX &I FLEH 9
15,000, 000& 14! 15,000
405 RHoHE S HI 25,000 25,000 0
01 AL EZFH S 25,000 25,000 0
osg txg 28 ¢ 25,000,000 = 1CH 25,000
ANRZSHSHH 29 785,923 700,048 85,875
101 @14l 17,897 2,966 14,931
4 012ZtHZ22EE = 17,897 2,966 14,931
OAMUZsHSHE Zd= EoHEA M &
£ 52,190 *3H 22 x4 3] 1,253
ONYSHHMSME T+ X oLy
52,190 «8H 6 »33] 7,516
OARI2stMSdE SO Zx=MA 2R
52,190 +4H 4 x4 3] 3,341
Ozolx otmpeled oy
52,190& »8H 83| 3,341
OMEAZBH2Y 8,178+ 2313 2,446
201 £B-2dH| 490,074 525,323 N 35,249
01 At 22/l 98,262 133,487 N 35,225
Oget==EH| 91,794
—ANYEHSsLdE 2EH E92
220,000& »12& 2,640
—AN2EHSsHdE S83 FAH
3,000& *330m %23 1,980
—ANBEZHSdH W2AE A=
500,000& x 13l 500
—ANYEHSHE SHE A=
300,000 62 1,800
—ANUZSHMSHE JtA FIZA =2
400,000& x13] 400
—ANYUSEHASHAEH sZ0 EINZA =8
120,000 »4CH =13 480

- 524 -




A S2O0AIE 22 0
M BoANE 29
Chel: EStAlE2tel CEERED)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
—ANUSEHAFSHEH sZ0 E3UYE ==
330,000& »12& 3,960
— AN RSHSME ASAE FUAMAC
= 2,200,000& x13] 2,200
—ANUZFMSHH A 2254
300,000& =122 3,600
—ANBRHSLHE RAIISEH SF
1,950 x50& <123 1,170
—ANEESHSUE SHEAX L IFHHE Al
& 1,000, 000& *23| 2,000
—ANUZSHMSHAH WS HEIILH FLetA
A =2 3,000,000& =14l 3,000
—ANERSHSHEH FALESIH|
2,525,000 x2H x 123 60,600
— AN ESHSME Hio dE =8
17,0003 = 11CH =123 2,244
—ANEBESHSUE =) dE =2
47,0003 x50 128 2,820
—ANEBESHSHE SASEMI BE ==
= 25,0003 2CH«128 600
—ANEESHSUE =524 3
300,000& =13l 300
—ANEESHSME SHE OO0t =S|
100,000 »3CH 53] 1,500
O= &l 6,468
—ANYUZSHMSHE SH A0 OGE =
Z 04 21 I 7,000« 11HE»72 <123 6,468
02 2324l 391,812 391,836 A24
Oz&22= & HA 391,072
—ANEBRIMSHEH M=
18,000,000& =128 216,000
—ANEESHSME e & QAFHS ALE
= 115,000& =128 1,380
—ANUZSHMSHH &6t=E SU3
10,000,000& 128 120,000
—ANUZSHMSHH NE R FES
4,000,000& *13] 4,000
—ANYUZSHMSHH Lt QERS
2703 1504 123 486
—ANYUZSHMESHH S SERS
4,0003 1524 +128 720
— AN RSHSME JtAEcHEHA e 28
= 100, 000& 12/ 100
— AP RSHSME Agtotd2e] &3l
50,000& x13] 50
—ANEEHSFUE dItd2el &2l
120,000& * 13/ 120
—ANERHFHE L0012 I AHER
3,000 ~18CH*42 DI 216
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SN S0 AIE 22 D
M 2IAE 29
©el: 2AIE 2 (cho &)
(o
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
— ANOS2SHSHAE HE IS T AIJFA AF
2= 4,000,000 x12& 48,000
Od 24l 740
— ANMOSSHESHAH HAaSM) H2H(ESR)
1,200 «500L*13] 600
— ANOSSHESHEH W=D H2H (FESR)
1,400& *100L 140
OAl&E Z&HI KXY 0
202 o4 H| 2,952 3,159 N 207
01 2Ll 2,952 3,159 N 207
O2stANEAs & EE58sS 22 0]
210,800 x7H x23| 2,952
206 M 2 dl 18,000 18,000 0
01 =4l 18,000 18,000 0
OARI2FHESHAH 222 2R (2H2
H=2Es) 1,500,000& x12& 18,000
401 A& HI L 2 0HHI 230,000 145,000 85,000
01 A& H| 230,000 145,000 85,000
OANBIR3sHdH AES SKE2H|
230,000,000& * 1Al 230,000
405 XH&HF S HI 27,000 5,600 21,400
01 JMY 2= EF S HI 27,000 5,600 21,400
oAl A A& HLtet)] Al
4,200,000 504 21,000
OANS 2SS MI|otE2AZE2 dota=F
&l P2l 2,500,000 ~1CH 2,500
OANS2SHESHAH M)t 2AZE2 M=
ST HY 2 1,500,000 ~1CH 1,500
OANSI2stHsHdH MI|1otE222 Cols O
BH 2 1,000,000 ~1CH 1,000
OANBESSHEAH M)t 222 BHANE
=EAMI(DY, M) ¢ 500,000 *2CH 1,000
SEIs 2 ¥ 29 305,372 263,258 42 114
101 21 21d| 3,382 2,005 1,377
04 JIZtHIZ22NSES 3,382 2,005 1,377
O2srta &xHAH & &CIHI| o8
52,190 »4H 2 x4 3| 1,671
OS82 o 2ejel X4 X AR
52,1903 »4H 22U %3 3| 1,253
OMEAZBH2Y 8, 1781 «8% 72 458
201 et d| 169,460 137,545 31,915
01 A2t 2| bl 80,474 50,039 30,435
Ogst=2H| 76,344
— ZA2 X 20,0003 x5 A %128 1,200
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D20 AL 2e

29

= I o
T 23tAIE e

SN P SA(EN) - MBAY - BES

Zet=FA =H 500,000& *12
ZA=EAMI EHFY 330,000 »1CH »424
e € BaAEY 237,000& 23|
s L2 ENFEY 403 20, 00004
SEd =3 M 1,000& *300& *32
St==2s2ga Haldl 200,000& *12
d=egts283 Haltl 300,000& 13!
RIS 85 7Y

1,950 *30& 12
2 o 2 SEA ADEIFU(EE
g) 150,000& =12&
A2 488 g 7Y

100, 000& »5JH * 12
22 Ue % A8 4

1,850 +1,6008 13/

28 TN P2 12,000& =150
s HHE clSH MH

4003 *5,0008 +2F
H210=8 HAHE E ALl = WX

S TH

Orlzcdicl X3 uH % 22l

HIINEE EIIEME=2

| &l === 250,000& 128
Szl e ==28

EE2E S5 MF 500& x5,000&
HAE 228 &4X

2 FAA MBI "

AW - AFB AL E9HI

100, 000& 200K £

SA JISH M
70,0003 5%

220,000 »12&
11,0003 »4CH =12
700,000& »12&

900, 000& » 14!

60,0003 x1CH 12

100,000& «20H

50,0003 *43] 124

= (==

130,000 *450H*1/3

2,525,000 *1H «1200 &

ozl
ZRULEX L FL MAD
AlY| 7,0008! *

,000& 112 %13l

500
1,320
474
800
900
200
300

702

1,800

500

2,960
1,800

4,000

2,000

350

2,640
528
8,400

900
3,000

1,920
2,500

2,000

2,400

1,950

30,300
770

770
3,360

3,360
47,986
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SN S0 AIE 22 D
BH: AL 29
CHe: S3AI A 22| (e &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
O3322LHA 43,186
— s dIe3 3,000,000& x12& 36,000
— st Al AIE2 50,000& =12& 600
—NsSRLIELS 500,000& *13] 500
— st MUERNESET
276,100& = 12& 3,314
— IOl QEHY ABE
22,000 *3CHx12& 792
— MR EYE2 15,0008 * 122 180
—- 28 222 ¥s 2HR3
300& *3,0000H 1 x23] 1,800
OA & &l S XYl 4,800
— 22 2 &Hl SXH] 400,000& *12& 4,800
03 S AIS H I 41,000 40,000 1,000
OSZEI2&H #HAI2H 11,000,000& *13] 11,000
O=Uus 29 1,000,000& *x203] 20,000
O0eol2stna 249 5,000,000& *23| 10,000
202 04| 2,530 2,708 N 178
01 2LHOHI 2,530 2,708 N 178
O, st=22U3 L 3o &4
210,800& *2H *33| 1,265
O&EANZE =&, ZA 2 ¢l
210,800& *2H 33| 1,265
206 M = Hl 4,500 4,500 0
01 X2 Hl 4,500 4,500 0
Ozs M g5 Mg #+¢
5,000& *200H 23| 2,000
O&NAIES %2 &= XMl 50,000& *504 2,500
307 212t01 & 111,500 111,500 0
04 QIZHSHAFAIRE 2 X 111,500 111,500 0
OdR & ZsHH 7,000,000& x 14 7,000
Ot ZStHAEE 7,000,000& x13] 7,000
Oxgs A== 7,000,000& x13] 7,000
(@)=13=I R RELR-TPN gy )| 3,000,000& x13] 3,000
OSZANYSUI 2,000,000& x13] 2,000
Od8 2&H 5,000,000& x13] 5,000
OSLIea s2H 50,000,000& *13] 50,000
OFA~EAZstA =X 25,000,000& *13] 25,000
OB d A ALY S 3 1,000,000& *13] 1,000
OENMNGHEAEHA2EAAS 1,500,000& *x13] 1,500
OWESsZASGHA 3,000,000& 13| 3,000
401 AlEHI 22 0HYI 10,000 5,000 5,000
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AN 20AE 22

=
& Oll

dM: BIANE 2
o
235t

Chel: EStAlE2tel (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 A& HI 10,000 5,000 5,000
O2& & CCTV BAM(CIXE 1nstE)
5,000,000& =14l 5,000
OS82 oUHAI L 2B 24
5,000,000 =14l 5,000
405 XHoHF S HI 4,000 0 4,000
01 AL EZFH S 4,000 0 4,000
OFstzt SUMMEALAE 2
4,000,000& =14 4,000
HE2HAZH (20 AL 22l t) 62,134 101,663 A 39,529
Jl2ZH (20 A& 22| t) 62,134 62,254 A 120
JI2ZHI (20 A& 2elnt) 62,134 62,254 A 120
201 et 12,274 12,394 A 120
01 At 2teltl 12,274 12,394 A 120
O+t 12,274
—JIE2MREEY 100,000& »24H 2,400
— 32 9 HdE SAI FXNZUH(EH S)
330,000 »2CH »32] 1,980
—3& Y HdE Zelg, HA ST 22|
237,000 20 *33] *2J4 A 2,844
— S A =4&Hl 500,000& »2H 1,000
—SASX 7Y 20,0003 x15% A %128 3,600
—Jlg E2ESHI 150,000 *3H 2 450
202 04l 46,080 46,080 0
01 = LH 4 Hi 46,080 46,080 0
OZdAlg2el Jl=gRsad 2UHA
20,0003 x24H «83| x 128 46,080
203 YR =] 3,780 3,780 0
04 EA2IYRFLH| 3,780 3,780 0
OZ A& 2tel 350,000& = 12& x90% 3,780
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